
How often should the tetanus booster be given?

A. Every 5 years
B. Every year
C. Every 10 years
D. Every 25 years

Written proof of receipt of which vaccine is 
required for entry into certain countries?

A. Hepatitis B vaccine
B. Haemophilus influenzae type B (Hib) vaccine
C. Yellow fever vaccine
D. Rotavirus vaccine

Which U.S. president is known for having 
had polio?

A. James Madison
B. Franklin Delano Roosevelt (FDR)
C. Abraham Lincoln
D. Theodore Roosevelt

Why are people 50 years of age and older 
recommended to get a shingles vaccine 
when most of them have had chickenpox?

A. The virus that causes chickenpox remains in the
nerves and can reawaken as a person ages, causing
shingles.

B. Because anyone over 50 years old can get shingles, 
even if they haven’t had chickenpox.

C. Because exposure to chickenpox only provides
immunity during youth

D. Because shingles virus is different enough that
having chickenpox previously doesn’t matter.
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For more trivia, go to: vaccine.chop.edu/trivia

What disease could be prevented by a vaccine, but isn’t?

A. Varicella (Chickenpox)
B. Lyme disease
C. Shingles
D. Hepatitis A

While most vaccines are not given to pregnant people, 
which vaccines are recommended during pregnancy?

A. Hepatitis A and HPV vaccines
B. Rotavirus and hepatitis B vaccines
C. Influenza and COVID-19 vaccines
D. HPV and MMR vaccines

Which president contracted smallpox a short time 
before delivering a famous speech?

A. George Washington
B. Abraham Lincoln
C. Grover Cleveland
D. Thomas Jefferson

Which vaccine is recommended during 
pregnancy to protect the baby from 
whooping cough?

A. Hib vaccine
B. Tdap vaccine
C. MMR vaccine
D. Hep A vaccine

Who is considered to be immune to measles, mumps 
and rubella and, therefore, not required to get the 
MMR vaccine?

A. Adults born before 1985
B. Adults born before 1957
C. Adults born between 1958 and 1965
D. Adults born between 1970 and 1985

Out of every 100 people who get shingles, how 
many will get it again?

A. 0
B. 5
C. 10
D. 20




